1) TRADE THEORY

Question No. 1/ Question ID 211 Marks: 2.00
What is the reason of lamp glowing dim and motor running slow in a domestic wiring circuit?
oe] drafi wide | oo TvE FH AR SR R 2 <Ie 1 1 PR §7
(A) O Open circuit in the nautral line
od wEA | gen iy

(B} O High value series resistance fault (Correct Alternative) (Chosen Option)
I HIF ot afYay 29 (Correct Alternative) (Chosen Option)

(C) 0 Open circuit in the earth conductor
Y {OOF O © o ufvay

(D) & Short circuit between conduclors

Hrere] & di" TguyE

Question No. 2 [/ Question ID 229 Marks: 2.00
What is the name of the reflector?

TRTaHE 1 AT ] 87

(A) T Mirror type (Chosen Option)
W& (Chosen Oplion)
(B) O Dispersive type
Uel el W

(C) ™ Parabolic type (Correct Alternative)
UHY (Correct Alternative)




(D) Soft light type
LU R'CALIREAE

Guestion No. 37 Question 1D 50 Marks: 2.00
What is the name of the soldering method?

Hiesfon fafg s s AW 87

(A) O Dip soldering
0
(B) O Soldering gun (Correct Alternative) (Chosen Qption)

P

T4 (Correct Alternative) (Chosen Oplion)
(C) O Soldering with flama

T & Ty giesti
(D) O Soldering iron
Tresfar A
Question No. 4/ Question |D 107 Marks: 2.00

What is the formula to calculate the impedance (£) of the R.L.C series circuit, if the inductive reactance
(%) is less than capacitive reactance (Xg)7

HRuerdt uftgy & wian (2) &1 T S &9 w0 e, ofe IRea wiera (x, ) e wierd (ko) |
FHE?




(A) O (Chosen Option)

(Chosen Option)

(B} O
(€10 (Correct Alternative)
(Correct Alternative)
(YO
Question No. 5/ Question ID 204 Marks: 2.00

What is maximum load on each er sub- circuit as per BIS?
BIS ¥ UK Wl Ut ¥a-9fibe W Hftwan & &0 &7
(A) O 5000 W

5000 W
(B) & 2000W

2000 W
(C) O 6000 W

&000 W

(D) O 3000 W [Correct Alternative) {Chosen Option)
3000 W (Correct Alternative) (Chosen Option)

Question No. 6 / Question ID 224 Marks: 2.00
Which type of light fitting design has free from glare?
fara vepm &1 W fisfen v Tl @ qaa 22
(A) O Direct lighting type (Chosen Option)

U4 UehT=l UhY (Chosen Option)
(B) O Indirect lighting type
HWATE 1= U
(C) ) Semi indirect type (Correct Alternative)
3} WS UFH (Correct Alternative)
(D) & Semi direct type
il TR W

Question No. 7/ Question 1D 61 Marks: 2.00
Which type of wire joint is found in the junction box?
SR dled 7 Y UeR & a) & Wig U @ 87
(A) O Married joint (Chosen Oplion)
(Chosen Option)
(B)  Plain tap joint
e 2y

(C) O Aerial tap joint
ufiud ¢u g
(D) Rat tail joint (Correct Alternative)
(Correct Alternative)

Question No. 8 / Question ID 244 Marks: 2.00
What is the purpose of variable resistor connecled across shunt type ohm meter?
e UK 3t Htex & S ufvad! wiiy &1 It Fm gr
(A) O Adjust the pointer to zero adjustment (Correct Alternative)
UiEe B YR TG § WHTAITE $¢ (Correct Alternative)




(B) O Avoid draining of battery
i FdeE o T

(C) O Adjust the current to safe value
YT 1 G W T SHTE #¢

(D) O Minimize the error in reading (Chosen Option)
gredi® # 72 @ F1 H¢ (Chosen Option)

Question No. 9/ Question ID 25
Which is used to measure the size of conductar?

FEITT F WHR T WA F o e Iuam | g
(A) O Vemier caliper
gt Hieo

(B} O Standard wire gauge (Correct Alternative) (Chosen Option)
9R 719 (Correct Alternative) (Chosen Option)
(C) O Depth gauge
e ‘gﬁ

(D) O Bewvel gauge
CEGRIT]

Question No. 10 / Question ID 290
Which loss of transformer is determined by short circuit test?
wié wffe T g eigwi & g o & Rufo fm s g
(A) O Windage loss
g 71
(B} O3 Copper loss (Correct Alternative) (Chosen Option)
A" 81T (Correct Alternative) (Chosen Option)
(C) O Eddy current loss
e o A

(D) O Hysteresis loss

Question No. 11 { Question 1D 230
What is the name of light?
ThTE] &1 - F1 87

Marks: 2.00

Marks: 2.00

Marks: 2.00




(A) O Flash light
Toie TS e
(B) © Bulk light (Chosen Option)
=l (Chosen Oplion)
(C) O Flood light

Tg dige
(D) O Spot light (Correct Alternative)
ol wige (Correct Alternative)

Question No. 12 / Question ID 214 Marks: 2.00
What is the minimum cross- sectional area of copper conductor for flexible cord as per BIS?
BIS & TR 77 HIE F o/ SR Heaer & YAH HI9-TuHd &7 70 87
(AY O 2.5mm? (Chosen Option)
2 5 mm< (Chosen Option)
B} O 1.5 mm?
1.5 mm?

(C) O 0.5 mm? (Correct Alternative)
0.5 mm? [Correct Alternative)
DO 1 mmé

1 mm?

Cuestion No. 13 Question 1D 210 Marks: 2.00
Where system earthing is dona?

fereen st el s w22
(&) O Electroplating installation
3 FYTIAT
(B) & Generating station (Correct Alternative) (Chosen Option)
S eT W (Correct Alternative) (Chosen Oplion)




(C) O Small industrial installation
BIET ST =
(D) & Domestic wiring installation
2T

Question No. 14/ Question ID 1
What is the name of the safaty sign®?
74 T o &1 7 82

(A) & Warning sign
ﬂﬁﬁ?’l’r%ﬂ%

(B) O Mandatory sign
s fog
(C) O Information sign (Correct Alternative) (Chosen Option)
YAdATHT e (Correct Alternative) (Chosen Option)
(D) O Prohibition sign

fritus fog

Question No. 15/ Question 1D 90
What is the unit of susceptance?
E T 5P T g?

(A) & Ohm
Chm
(B) O Mho (Correct Alternative)
Mho (Correct Alternative)
(C) O Henry
Henry
(D) Farad (Chosen Option)
Farad (Chosen Oplion)

Question No. 16/ Question 1D 125

What is the power factor of a DC circuit?

DC Tidhe &1 UTge thae &1 BT 27

(&) O Greater than unity
o @ aife

(B) O Unity (Correct Alternative) (Chosen Option)
Hﬁﬁ (Correct Alternative) (Chosen QOption)

(CYy O Zero
A

(D) & Less than unity

gAet 2 Fa

Marks: 2.00

Marks: 2.00

Marks: 2.00




Question No. 17 / Question 1D 87
Which is the cause for changing the permeability?
witdfafad & ufafia 89 @ 7 Frm g7
(A) O Field intensity
& e

(B) O Length
T

{C) O Flux density (Correct Alternative)
T Y-cd (Correct Alternative)
(D) O Magneto motive force (Chosen Option)
qigd dd (Chosen Option)

Question No. 18 / Question ID 151
How the conduit pipes are specified?
Fae Uy F4 AfEy fru o &2
(A) O Outer diameter in mm (Correct Alternative) (Chosen Option)
arel =y, finft 7 (Correct Alternative) (Chosen Option)
(B) & Length in m?:‘;r&

(C) & Wall thickness in mm
dtar &1 Arerd, firdt
DY O Inner diameter in mm

iy sy, firdt o

Question No. 19/ Question ID 99
Which is a paramagnelic substance?
g ygrd & 9 87
(A) O Water

|
(B} O Steel
EL2 G
(C) O Air [Correct Alternative)
9] (Correct Alternative)
(D) O Glass (Chosen Option)
&9 (Chosen Option)

Question No. 20/ Question ID 113
What is the reciprocal of inductance in AC parallel circuit’?
Tt AHHiaT ufray # Ui 1 RS o 27
(A) O Susceptance (Correct Alternative)
(Correct Alternative)
(B) & Admiltance

(C) O Reactance (Chosen Option)
Hidad (Chosen Option)

(D) & Conductance
EIGETI

Question No. 21 / Question ID 95
In which device the air capacitors are used?

arg wefes 1w frg usen § fm o 87
(A) O Radio receiver (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

Marks: 2.00

Marks: 2.00

Marks: 2.00

Marks: 2.00

Marks: 2.00




(B) © Oscillator
CAGED

(C) ¢y Loudspeaker
fowmnw U3
(D) O TV tuner

el e

Question No. 22 | Question ID 281
What is the name of the part in power transformer?
UTER B H Y7 & AW a4 67

(A) O Tap charger (Chosen Option)
0 et (Chosen Option)

(B} O Explosion vent
YHTET de

(C) O Buchholz relay (Correct Alternative)
q Hrea v (Correct Alternative)
(D) O Breather

#ax

Question No. 23/ Question 1D 41
What is the purpose of hedding ingulation of U.G. cable?

wftnra dae # afEn @
(A) O F*rc:te-::l armuurmg {n::m atmos hen-:: condition
Ht argHsra Rl
(8) O F-'rc:-tecl the cable from lTIE-'EhEF‘IIE-E-l injury (Chosen Oplion)
Fad 31 Oif3F &fd | T2 (Chosen Option)
(C) ) Protect the cable from moisture and gases

ae &1 79 ud T 9 &=

Marks: 2.00

Marks: 2.00




(D) & Protect the metallic sheath against corrosion (Correct Alternative)
G B & | FE (Correct Alternative)

Question No. 24 / Question ID 208 Marks: 2.00
What is the permissible leakage current in domestic wiring installation?
e aTar T 5 A R SeHE a0 22
(A) O 1500 x Full load current
1/500 x Full load current

(B) 3 1/5000 x Full load current (Correct Alternative)
1/5000 x Full load current (Correct Alternative)

(C) O 15 x Full load current {Chosen Oplion)
1/5 » Full load current {Chosen Option)

(D) 1750 x Full load current
1/50 x Full load current

Question No. 25/ Question ID 274 Marks: 2.00
Which type of motor is used in the wet grinder?

id ge] § g usr #1 wiey &1 audi B @ g7
(A O LlnwEraallﬂn;tnr

(B} & Capacitor start induction run motor (Correct Alternative) (Chosen Option)
BT 79 HIET (Correct Alternative) (Chosen Option)
(C) & Capacitor start capacitor run motor
Sifes  Hiet
(D) O Repulsion motor
wferaym Hige

Question No. 26 / Question ID 163 Marks: 2.00
Why tree system of wiring most suitable for Multistoried building?
agHTere ARG & for arl #1 & wonelt wad Juge =l 8?
(A) O Easy load balancing (Chosen Option)
AT HIR YA (Chosen Option)
(B) & Constant voltage distribution
froa gt faam

(C) & Offers minimum voltage drop
AATH e UTd B

(D) ¢ Easy in fault finding with many fuses (Correct Alternative)
WY W & WY E19 ga- W WTedl (Correct Alternative)

Question No. 27 /| Question ID 110 Marks: 2.00
What is the purpose of phase sequence meter?
Tl HTHEH e F JeTd 71 87
(A) O To indicate the incorrect phase sequence of 3 phase
3 TA0T o T 9R01 SN &1 50 F & o
(B) (3 To ensure the correct phase sequence of 3 phase system (Correct Alternative)
3 TT0T UOITAt & el 90 S &t giHiad F3- & [T (Correct Alternative)
(C) O To control the speed of 3 phase molor
3 70 R & nfd 1 FrdfEa 39 & fan

(D) To protect motor against short circuit fault (Chosen Option)
Tiie fthe et & [Gar Aied B 160 & 10 (Chosen Option)

Question No. 28 / Question ID 124 Marks: 2.00
What is the rated AC 'uulla% e for sln phase domeastic supply in India®?

I H U =90 94, qw-ﬂa‘lc—-&mw%?




(A) O 110V
10V

(B) O 440V (Chosen Option)
440 V (Chosen Option)

(C) ) 240 V (Correct Alternative)
240 V (Correct Alternative)

(D) () 415V
415

Question No. 23 / Question 1D 212 Marks: 2.00
Which location the service connection supply leads to be connected at consumer main board?
FuHiE T |1 H Har e gl e v | gt g g
(A) O 1C cut out

o HGC
(B) O Main switch
el e
(C) O Distribution board
farem @

(D) O Energy meter (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

Question No. 30/ Question ID 129 Marks: 2.00
How the capacity of batteries is specified?
a1 B & $H Fare Al g7
(A) O Volt
Wilt

(B) 3 Ampere hour (Correct Alternative)
Ampere hour (Correct Alternative)

(C) O Watt (Chosen Option)
Watt (Chosen Oplion)

(D) O Volt Ampere
Volt Ampere

Question No. 31/ Question 1D 28 Marks: 2.00
Which type of soldering flux is used for soldering galvanised iron?
Tediigrd Tiie & fo7d fov U & ies N erad &1 i fawan e 87
(A) & Hydrochloric acid (Correct Alternative) (Chosen Option)
HHT (Correct Alternative) (Chosen Option)

(B) O Zinc chloride

EES])
(C) O Rosin

R EC]

(D) & Sal ammonia
i

Question No. 32 / Question ID 288 Marks: 2.00
What is the composition of steel and silicon steel in transformer core?
' wia o il da st dmn s gy
(A) O Steel 95% and silicon 5% (Chosen Option)
el 95% a7 fafeei 5% {Chosen Option)
(B) O Steel 90% and silicon 10%
e 0% ok fafeia 10%
(C) O Steel 93% and silicon 7% (Correct Alternative)
wrer 93% T RafersTa 7% (Correct Alternative)




(D) & Steel 97% and silicon 3%
Wi 97% MY fafereia 3%

Question No. 33/ Question ID 269 Marks: 2.00
What is the magnetrﬂn tube filament voltage used in microwave oven?
HIEHIAa e H wad Bl e fremie dew Fn g

(A} O 20VAC
20VAC

(B) O 3.0VAC
30VAC

(C) O 3.2V A.C (Correct Alternative) (Chosen Option)
3.2V A.C (Correct Alternative) (Chosen Option)

D)O 1.5VAC
1.5VAC

Question No. 34 /| Question ID 220 Marks: 2.00

Why system earthing is different in utilization than equipment earthing?

Fuan ififn 6 gern J fren il arem i §2

(A) O It protects from all circuit faults
ag gt ufvay gl § F=ma €

(B) & Itis associated with current carrying conductors (Correct Alternative) (Chosen Option)
UE YT aTe® AT | Wl § (Correct Alternative) (Chosen Option)

(C) O It protects human only
g Sad B! T80 S g

(D) O Itis connected to the non current carrying metal work

Ug TR YN AEs uigsi & wEtia §

Question No. 35/ Question ID 252 Marks: 2.00
Which is an absolute instrument?
U e JUEI0 & W 57
(A) O Ammeler (Chosen Option)
THIE (Chosen Option)
(B) (O Volt meter
diee Hiex

(C) O Energy meter
Tl AT

(D) & Tangent galvanometer (Correct Alternative)
(Correct Alternative)

Question No. 36/ Question ID 262 Marks: 2.00
What is the phase difference between 3 phase voltage system?

3 T diees fired & o9 oo Bwim e e 82
(A) O 180°
180°
(B) O 2700
270°
(C) O 120° (Correct Alternative)
120° (Correct Alternative)
() O 90° (Chosen Option)
90° (Chosen Option)

Question No. 37 / Question 1D 142 Marks: 2.00
Which cell is most often used in digital watches?
faforea afgal & wmmam: S T dw wam g g?




(A) O Mercury (Correct Alternative)
T (Correct Alternative)

(B) & Voltaic
EIGEEs

(C) O Lithium
IGIEEE

(D) O Silver oxide (Chosen Option)
fireae HiFHEE (Chosen Option)

Question No. 38 / Question ID 207 Marks: 2.00
What is the type of test in domestic wjringlinstallatiﬂn‘?
AR RITTAT H TRI&001 &1 U 1

b7

(A) O Continuity (or) opan circuit test
e (an) = uiay i

(B} O Polarity test (Correct Alternative)
FEGL @ (Correct Alternative)

(C) O Insulation resistance test belween conductors (Chosen Option)
e & Hel FraTad Widie |id (Chosen Option)

(D) 7 Insulation resistance test bebween conductors and earth

'H..'I
ATe! U YN & T G Wikt Wi
2) WORKSHOP CALCULATION AND SCIENCE

Question No. 1/ Question ID 311 Marks: 2.00
What is the 3.1 unit of heat?
T B UL, T w87
(A) O Centigrade heat unit
Centigrade heat unit
(B) & Calorie
Calorie
(C) O Joule (Correct Alternative) (Chosen Option)
Joule [Correct Alternative) (Chosen Option)




(D) ¢ British thermal unit
British thermal unit

Question Mo. 2 / Question 1D 303

How many millimetres are there in 1inch?

1 29 ¥ faa facdtdtes g 82

(A) O 2.54 mm
2.54 mm

(B) O 2.45 mm (Chosen Option)
2.45 mm (Chosen Option)

(C) O 254 mm (Correct Alternative)
25.4 mm [Correct Alternative)

(D) O 24.5 mm
24.5 mm

Question No. 3/ Question ID 305
What is the square root of 5297
520 &1 AT T 87
(A) O 23 (Correct Alternative)

23 (Correct Alternative)
(B} O 13 (Chosen Qption)

13 (Chosen Option)
(€0 3

33
D)O 43

43

Question No. 4 / Question ID 308
Which metal contains iron as a major content?
T ¥ far g o wigm wnel & w H wien g 82
(A) O Brass metal
i &g
(B) O Ferrous metal (Correct Alternative)
HTd (Correct Alternative)
(C) O Bronze metal
EIERGH
(D) O Zinc (Chosen Option)
fi® (Chosen Option)

Question No. 5/ Question 1D 310

What is called mass per unit volume of a substances?

fareit v & womae il S SMaad & 7 Fed 67

(A} O Mass (Chosen Option)
“odHM (Chosen Option)

(B) O Weight
HI

(C) O Volume
HTTH

(D) & Density (Correct Alternative)
U] (Correct Alternative)

Question No. 6 / Question ID 315

What is the perimeter of a rectangle whose length and breadth are 20 cm and 18 cm?
2047, 7 18 A, 27

UF HId &1 9iHTe 71 g, formet wars v

Marks: 2.00

Marks: 2.00

Marks: 2.00

Marks: 2.00

Marks: 2.00




(A) O
B) O
C) O

0O

3) ENGINEERING DRAWING

GG om
GG om
86 cm
56 cm
26 om
86 cm

76 cm (Correct Alternative) (Chosen Option)
76 cm (Correct Alternative) (Chosen Option)

Question No. 1/ Question 1D 338
Which dimension correctly marked in the circle as per standard?

HId & HIHR Tbe o

() O

(8) O

1 3marH Tt g A ffga g

Marks: 2.00




) O

o

(Correct Alternative) (Chosen Qption)

(Correct Alternative) (Chosen Option)

(DY O

Question No. 2 [ Question ID 320 Marks: 2.00
Identify the conventional symbol of material?

fera o Termme 70wt & unafvs udie &1 uar svmi?




(A) O Water (Correct Alternative) (Chosen Option)
Tt (Correct Alternative) (Chosen Option)
(B) O Asbestos
teeH
(CY O Glass
&g
(D) O Concrete

Question No. 3 / Question 1D 340
Which single stroke inclined letter "A' is correct as per |5 standard?

IS ATE & HIaTe @i o R gie afiee deva wdt 27

(") O

Marks: 2.00




B) O

[Corriect Alternative)

[Correct Alternative)

€) o

L))o

{Chosen Option)

{Chosen Oplion)

Question No. 4 / Question ID 325 Marks: 2.00




Which fitle block position is corect as standard practice?
U A S0TE & =4 1 S 4 I s Ry wd@t ¥
(A O

(B) O

[(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

(C)O




(0) C

Question No. 5/ Question ID 329
What is the trimmed size of Ad sheet?
a4 Tite @1 2w fae gan ane w87
(A O 594 x 841 (Chosen Option)

5894 x 841 (Chosen Option)
(B} O 210 x 297 (Correct Alternative)
210 x 297 (Correct Alternative)
(C) O B41 x 1189
241 x 1189
(D) O 148 x 210
148 x 210

Question No. 6 / Question ID 337
Identify the name of tool?
FUHTU 1 AH 9g=-H?

Marks: 2.00

Marks: 2.00




(A) O Open end spanner (Correct Alternative) (Chosen Option)
I'?,Th' Y [Correct Alternative) (Chosen Option)
(B) & Adjustable spanner
Lt

(C) O Ring spanner
T 9T

(D) & Combination spannar
e W

M) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 528 Marks: 2.00
Which shortcut is used to save a word file in MS-Word?
MS-Werd T el a8 wigd 1 39 #:37 § for v wifidee &1 waim e o &2
(A) O Alt+ 3 (Chosen Option)
Alt + S (Chosen Oplion)
(B) O Cil+B
Ctrl + B
(C) O Ctrl + S (Correct Alternative)
Ctrl + 5§ (Correct Alternative)

DY Ciri+N
Ctri + N

Question No. 2 / Question ID 533 Marks: 2.00
Which among the following is not an Online payment application?
EXRFafI 3 & A W el T ST e 3
(A) O Instagram (Correct Alternative) (Chosen Option)
E'?E.'I'!IITH (Correct Alternative) (Chosen Option)
(B) O Google Pay
T
(C) O BHIM UPI
BHIM UPI

(D) O Banking Applications
b

Question No. 3/ Question ID 454 Marks: 2.00

Which one is a Do's in interview etiquette?
Seve] uiede H Do's #4017
(A) O Too excessive in gesture

g waTa] S Sl
(B) O Be confident (Correct Alternative)

8-l (Correct Alternative)

(C) O Dress too casual

G F3dA FUS TEA
(D) & Lie about abilities to get job (Chosen Option)

&4 U & fore amarad & 9§ 38 S (Chosen Option)

Question No. 4 / Question ID 434 Marks: 2.00
Dedication to a particular work is called
Rvet e okl 5 BT TRww S
(A) O Intelligence
(B) O integrity
HESl

(C) O confidence
HAfayE




LYo c:nmmi_trnent (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

Question No. 5/ Question ID 565 Marks: 2.00
What actions should be taken after getting to know customer suggestions/problems?
g & YHEUTHENSH B T & 918 F1 ST $1 A Afgu?

(A) O Ask, Solve (Chosen Option)
Rk T {Chosen Option)
(B) O Ask, Act, Categorize
ue, sftfn, affea w4
(C) O Ask, Followup
Tt Wieiay
(D) O Ask, Categorize, Act, Followup (Correct Alternative)
. aiffga &+, sifuf=aw, sradi ®1ars (Correct Alternative)

Question No. 6 / Question 1D 440 Marks: 2.00
In face to face communication, “tone of voice™ accounts for
AT & HER |, 2 Hiw dge
(A) O 59%

55%
(B) O 38% (Correct Alternative)
38% (Correct Alternative)
(C) O 100% (Chosen Option)
100%: (Chosen Oplion)
DO 7%
7%

Question No. 7 / Question ID 560 Marks: 2.00
Itis best to ask questions when asking questions.
T Y&d T T U@ TEY 3= B
(A) O Open and close ended (Correct Alternative)
TS T U2S (Correct Alternative)

(B) O Rude

HEW
(C) O Personal

EOIERES

(D) Sensitive (Chosen Option)
] (Chosen Option)

Question No. 8 / Question ID 386 Marks: 2.00
Which is a silent letter in the word "ANSWER"?
“ANSWER" TTa% H &9 T 0 HaR §7
(A) O E (Chosen Option)
E (Chosen Option)
(B) O W (Correct Alternative)
W (Correct Alternative)

€O S
3
DO R
R

Question No. 9 / Question ID 368 Marks: 2.00
Curriculum vitae is also known as

Curriculum vitae &1 ¥ &0 1 o o o B




(A) O resume (Correct Alternative) (Chosen Option)
[(Correct Alternative) (Chosen Oplion)

(B) O leave application
(C) O circular
BIELE]

(D) O job application form

At & fo el oA

Question No. 10/ Question ID 478 Marks: 2.00
The way money is saved, spent and invesled........

forg ave O U Famg o &, | i o @ o faw e
(A) ) banking

(B) O salary
GGl

(C) O financial literacy (Correct Alternative)
fafg \Iara (Correct Alternative)
(D) O income (Chosen Option)
H (Chosen Option)

Question No. 11 / Question ID 393 Marks: 2.00
Which one is in active voice?
aftrg amara § &5 T 87

(A} O3 Ram has passed the exam. (Correct Alternative)
Ram has passed the exam. (Correct Alternative)

(B) « The ball was caught by him.
The ball was caught by him.

(C) O The book was being read by her.
The book was being read by her,

(D) & We were driven home by dad. (Chosen Option)
We weare driven home by dad. (Chosen Oplion)

Question No. 12/ Question ID 534 Marks: 2.00
contains one or more worksheets.
— Huwm fiw srfuEe 89 2
(A) O Workbook (Correct Alternative)
{Correct Alternative)
(B) O Document
EEPUES

(C) & Address bar
el gl
(D) O Woerkfile {Chosen Option)
(Chosen Option)

Question No. 13/ Question ID 411 Marks: 2.00
Which of the following does not constitute your identity?

T TEEH &1 Tifed we | Prafefae # 2 s-m T @7
(A) O Values

(B) O Marks scored in an exam (Correct Alternative)
TS UaN § UTE 3 (Correct Alternative)

(C) O Likes (Chosen Option)
qHg {(Chosen Oplion)




(D) & Opinions
P

Question No. 14/ Question 1D 467

A good way to respond to the question “Shall we start the discussion?’ is
U 1 ITH o &1 U 3] a4 ‘Shall we start the discussion?’ is

(A) O To conclude
To conclude

(B) O But, don't you think?
But, don't you think?

(C) O Yes, let's start. (Correct Alternative) (Chosen Option)
Yes, let's start. (Correct Alternative) (Chosen Option)

(D) To sum up
To sum up

Question No. 15/ Question ID 354

People from all religions or no religions are treated equally means....

it wrf a fdt oft end 3 ST & Ty T SraER TR R e L

(A) O religious
it

(B) & secular Country (Correct Alternative)
& &I (Correct Alternative)
(C) O non secular (Chosen Option)
& (Chosen Option)
(D) O democratic

Question No. 16 / Question ID 556
What does 'A'in SMART stand for?
SMART H ‘A &1 1 a4 87
(A) O Achievable (Correct Alternative)

Achievable (Correct Alternative)
(B) O Action
Action
(C) O Awareness (Chosen Oplion)
Awareness (Chosen Option)
(D) O Ambitious
Ambitious

Question Mo, 17 / Question ID 546
The expansion of GOPis................

coPpm w2

(A) O Gross Domestic Product (Correct Alternative) (Chosen Option)
Gross Domestic Product (Correct Alternative) (Chosen Option)

(B) O Godown Demand Product
Godown Demand Product

(C) O Grand Demand Product
Grand Demand Product

(D) O Giant Domestic Product
Giant Domestic Product

Question No. 18 / Question ID 522
Which one is an output device of the computer?

FUIET 1 I faq F1H T 82
(A) O Printer (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

Marks: 2.00

Marks: 2.00

Marks: 2.00

Marks: 2.00

Marks: 2.00




(B) O MIC
Higd

(C) ) Mouse
HEH

(D) O Keyboard

Question No. 19/ Question ID 390 Marks: 2.00
Which one is a cardinal number?

FIEAE Aa% FH W L7

(A) O 10 [Correct Alternative)
10 (Correct Alternative)
(B) O Xl (Chosan Option)
Xl (Chosen Option)

(Cyo vi
Vi

DoV
v

Question No. 20 / Question ID 475 Marks: 2.00
Someone is treated differently on their skin colour, income.......

fereit @t e & 1, 1 B OEHT Aa e W TI9eR fhm e e |
(A) O nature

(B) O unity
Tl
(C) O correct

(D) O diserimination (Correct Alternative) (Chosen Option)
ﬁ'ﬂﬁ' (Correct Alternative) (Chosen Option)

Question No. 21/ Question ID 391 Marks: 2.00
Which one is a cardinal number?
HINETA X B T 87
(A) O Second

LR
(B) (y Fifth
Orerdl
(C) O Eighth ({Chosen Option)
(Chosen Option)
(D) O One (Correct Alternative)
U&F (Correct Alternative)

Question No. 22 / Question ID 557 Marks: 2.00
You have greeted the customer. Choose which of the following statements you should use to complete
the greeting.

x e &1 auTs &1 § | Jifen &1 g & & o st Fafafan | 4 e s & gwm s mifge
1

(A) O How may | help you? (Correct Alternative) (Chosen Option)
' Hgg &Y Y Hdl 7 (Correct Alternative) (Chosen Oplion)
(B) O Can you come later
T 31 TG H o Hepal &
(C) O What do you want?

7O T T d




(D) & Why have you come?
g =T g g7

Question No. 23/ Question 1D 345 Marks: 2.00
To bein a job or work is......

Al RE A e ...
(A) O Skill

(B) O Knowledge
M
(C) O Employ (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

(D) Aplitude
dran

Question No. 24/ Question 1D 432 Marks: 2.00
Choose the correct context of the given gxpress'mn in group discussion. "Excuse me, | would
7y fEweE o &y my sifiresfaa @1 we! Wes 91 "Excuse me, | would -

(A} O Interrupting (Correct Alternative) (Chosen Option)
Interrupting (Correct Alternative) (Chosen Oplion)
(B) O Summarizing
Summarising
(C) O Agreeing
Agreeing
(D) & Emphasizing a point
Emphasizing a point

Question No. 25/ Question ID 531 Marks: 2.00
A wireless technology that connects a laptop to the internet is called :
U ARRE T ol aHeld &1 Seee § AISdl 6 FHoard g
(A) & Deskiop
ey

(B) & WIFi (Correct Alternative) (Chosen Option)
= IFI% (Correct Alternative) (Chosen Option)

(C) () Bluetooth

=[eH
(D) Source Network
Hid Head




